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Vypotitejte hodnotu virazu proa=-1,b=2,¢=-2.

2 2a—3b+et= 2.(1)-3 2+ (2 =-2-6+4=-4

b) ad—bt-e= (1P (2)="]1-4+2=-3

) (ate)la—b)= (1-2) (1-2)=-3 (=9

D (a—3Pe(b—c)= LL-3P [-(2]=16 [2+2]=16 4=64

o ah—ci= L.2-(D=-2-(8=-2+5=6
n Sl Do (Y =-(])-4+2=-q43=-1
2 A2-2 (D] -(2P=[2+2]-(-8=-4+8=4
h) abe—¢3= 1.2 (2) (2P =+4-(8=4+8=12
D |-a-b= LLED 202 =pLI =21

Zjednoduste.

3a-7+2—6=5az13 ) 0,26~ 1,5+0,8¢+5 = x+3.5

b) Xy—9+3xy—T=dw-16 bl 0,7r+0,2s—r—3s= =03r=285
) 2a* - b+ 7a’-5b = 9a2- 61’ 5] —uv+0,5u+2,2uv —u® = 0,50 + 1,2
L) 6% —x—3xt 2w = 3. 5x D xy?—xly eyt 3ty = 2y b3
D] Th—12=31%+ 6kl = 4P+ 13K m) 0,2m*~1,3mn—m®+0,Tmn = 0.8n’ - 0,6mn
D —9—ab—7+6ab= 3ab-16 ) 6v—6ut12v—1Tu= 18v-23u
9 wtv—3u’—Sulv+ 2’ = dul-w’ ) ab+2,3ab+1,50>h~3ab= 2.50%-0.7ab

B a®b—2ab*+3a’b-3ab? = 42’ - 500" P xlyt -3ty xtyt= a4 s





image2.png
Vyddte

b) 9
36a%:6a%=_6 10c3d3:5¢3d? = 2d. 120x3yz? : 20xyz? = 6’z
(~15x2y3):3xy = 507 (=662v3): (~30v%) = a*b3c?:(—ab?e?)= gp
(~8a*h*c?):abe = _-8ab’c 2qr®:(~2qr®) = 12 (1168u) =
9363 (~3d%e3) = ~12ah2c:3abc = 40’ 6r¥s2e:(=3r2s?) = 2rst
‘Umocnéte.
b
D (= ) Gef= 90 9 Gap*e? = 1
(~3ab)’ = -270% (~10x) = -1 000





